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The vertical beam 08 i The diagonal legs have equal

to the porch rool. kemgths and are joined al their
P00 and B are cqually spaced. enidpoinds
; 7. Developing Prost Copy and comphete the u

. TR =
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Developing Froal From the information
o 1 given in the diagram. can vou prove fhy

",




B AABC and ADEFwith ;A = oD, B w LE2C = eF

B AGH! and AJKL with T = TR, 7T = KL 21 = 2L

M, AMNP and AQRS with SN = JR.oN = ok VP = T8
Contructions Use & uraighiedge io draw A JKL Comsruct AMNF = AJKL
kg the ghven possulaty.

L -1 12 RAS

AL Developing Proof Supply the reasons in this prood. A
Ghrem: X s the midpoint of AG snd of VR v

Prove: AANY = AGRY N—
Statements Reasoni
L2l w2 = I.i G
L X'is the midpoint of b.
LAY = OX = ﬁi
-I..'I."-tludﬂ-ﬁci d.
ENY =R [ o
b AANY = AGRY [ o B |

M. Erver Amalysis A fricnd cosjoctencs that there should be an AAA Congruemoe
Pestulate since there i a 555 Congruence Posiulate. Give 8 countorcaanple 1o
disprove your fresd's conpciure.

35 a Open-Ended Lisi theee real-life mes of congnees tnangles. |

3 h. Writing For cachtell whether you think congruence is neocssary amd why.

Developing Proal What can you prove abeut AFSP and AOSP
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